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SECTION = 1 : MATHEMATICS (Adé ariniw)

I I 7 divides @* then
(1) 7 divides o' (2) 7 divides Yo (1) @ divides 7 (1) None

a® & 7 wrhodss
(1) 0" & Terngod (2) Ju &7 erdod(d) 7w awnges (4) dbwa

3 In the formula log, xy =log, x+log, v, which of the following is true 7

log, xy =log, x +log, ' waud, & (ot reds* DB Sdgdn,
(1) x>0, y>0,a=1 (2) x<0,y<ha=]

(3) H?ﬁ.}'?ﬂ.l=l (4) x>0, py>D,azl

3 5=
(1) 7"’ @) 7%’ (3) 7% (4) None (38 wev)
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# . 1
(1 n» (N (h (0 -

g, d=tog aslog c=lg & javs

- 5 - R h ! s 0™ o
‘l} a4 1.‘ .~. “‘1 ‘1- 1"' &'—.[‘L ‘Ub u* l

4={P.O.LY.T.E.C,H.N.1.0}. B={P.O.LY.C.ET,2020}, B-A=

(1) {20} (2) {2020} (3) {40} (4) None (38 wen)
If 4={a).8={a.5}.C={a.b.c}. then AnBNC=

1={a}, B={ab).C={a.b.c} wad ANBNC=

(1 {a} (2) {8} 3) {c} (4) None (D4 ecu)

Product of the polynomials (.r3 -r-S).(x-—S) is denoted by
pla)=art<bf+a”+di+e then p(8)=
(x‘: -5).{:-8) v pidoo ot p(x)=axt + b7 + o+ dv+ e waus p(8)=

(10 (2) 1 (3) 2 (4) 3

If . B arc the routs of x:-l=ﬂ. then w+ i =

@f e = =1=0 Cug) Lrodl u+fi=
(1o (2) 1 (3) =1 (4 2

SFACE TOR ROUGH WORK / 24 278 $amauvodeds se;
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14

For the equation

20191 + 2020y = 4040 when =0 the value of v=

20191 + 2020y = 4030 o3 chvddmioid r=0) oculd y Jeud =
(2) 2019 (3) 4 i4) 2

(1) 2020

Solution of the equations 7x +:

Ty =-2 abyedoro &3 & (K2

Tr+Sy=125r-

Sy=128v=Tr= -3 is not equal to

"-'..-"‘ _d'I-J b et =

(n =2 = : i3 M > -77 13 I [ 15
ETRT Q) 5% NS §) s=ive
22" 14 334 S TRT AUNTHTE
g g
=3 o x (= 1)_
2019 2020 2019 "I}"l]
(1 (2019, 20200 Q) (2020, 2019) {3}121110, 2019) (4) (2020, 202
¥
If (5.2) is the solution of 2x+3y=20. ax—by =0, then (a.b)=
3r+5y=20, ax—by=0 o3 (5.2) wowa (a.b)=
(2) (5.2 3) (-2.5) (4) (-5.2)

) (29)

I ax + v =2 has unique solution then

If the system of equations ¥—V=

r-y=Lar+y =1 o “‘!!mm

rd L sdore
(1) a=1 (2) a=-I (3).azl (4) oz~
:--_1'=J-.':.r-y=ﬂ then r=
*_;=~J§.r—_r=ﬂ poud IS
'-ﬁ -}
(3 2) 3 G355 4 =
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16 11 the roots of 247 + ky+3 =10 are real and equal then &=

: & 1 Sdy Deud
2= ke e d=0 Qg Lirore TaTw Sbay SimTe eowds A >

na— 3y £5
() 2642 (2) +4 (3) £26 e

17 l“t':—h't-l)=

() (2e-3)(e=3) () 2r=3)(x+1) ) (2x+0)(x=1) 9 (2r=3)H3x=3)

I8 Roots of 5x= —Ry=4 are .

Sy —8v=4 Q) ureren

—

o 2 5 18 s il (4) 27
(iu_s (1) 3 t.l--s
19 Product of the roots of 3 x= =2v=J3=0 is
B -2x-Ji=u G Lrero oo
2 2
b | =% —
i1 121 =1 (3) N (4) B
-1 1 P
20 L—;-] --------- are in GP.. then find &' term,
| -1
.T.'-l' ......... Aom [@8 & act, B 3 2daw ;
| | -1 -
T iy SUNTTY 2y
21 4 7100 s are in AP, then sum of 15 terms is .......,
. T W) | | R— AP & e &, |5 scrowdo ........
(1) 385 (2) 475 (3) 375 (4) 325

SPACE FOR ROUGH WORK / o& S8 Brauodads seta.
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24

26

7

10" term of AR : 13, B 3, =24 v T

13. 8.3, =2, coo.. AP & 10 3380 0ievene .
(1) — 32 (2) - 23 (3) 30 (4) =30
Which term of the GP. : +/3,3, ; B is 729 7

V3.3.3 8., o [@86° 729 S G507

(1) 10 (2) 12 (3) 14 (4) 16
If the slope of the line through (2, =7) and (x, 5) is 3 then x= weeenes
(2, -'Tl:. (x. 5) © thoar T Bp e 3, vavd X A JUD e

(1) 4 (2} § (3) 6 4) 7

If (8,1),(k,=4).(2.-35) are collinear, then f =,

(8,1),(k.—4),(2.-5) e SBhavreds, k cwsy devd...

(1 4

The point (2.—3) divides the line segment joining the points (—1.3).(4.=7) in the

ratio.......

(~L.3).(4.-7) Bocspes* Doy Ber woord) (2.-3) Doy Do =N

(2) 3

By ]

(1) 3:2 A2) 2:3

The centroid of the triangle whose vertices are [3.-5],(—?.4},{1 0,-2) is

(3) 2 (4) 1

(3) 8:1 (4) 1:4

(3.-5).(-7.4).(10,-2) & §renrr Ao Brbsso Glugy mddgioge ...,

() (L1)

2) (L-2)

(3) (-2.1) 4 (2.-1)

-----

----------
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28 The ratio of the

. corresponding si 0 similar 1ri 8533 i
i i ponding sides of two similar triangles is 5 1 3 then the ratio of

Bodu &
: :d.:-a Behre Biars tero 38 § @ 3 woud Prengo X
1343 2)3:5% (3) 6: 10 (4) 25:9

29 From the figure =
S0 o8 y =

(1) 10 (2) 15 (3) 12 (4) 25

3 AABC~Axyz, 2C=60% 28=T5° then £7 =

ﬁABC-ﬁx;\':£C=bU‘;:£B=TS° mond L7 =
(1) 90° (2) 75¢ (3) 43° (4) 60°

R ﬂABQ~APQR then y+:z=
AABC~APQR wowd v4+z=

" ~
3 s 8
: R
P ) _:_:].-I s C
&)
(1) 44453 (2) 3+443 (3) 4+343 (4) 4=43

SPACE FOR ROUGH WORK / 24 308 $erauodnds godw
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3

35

In AARC: BC+ AB2=AC? then is the right angle,

AARC & BC:+.4.ﬂ::=rlE'3 oL :.Eunul“nu aodi,

(n f (2) A
(3) € (4) Can't say (25;8&)
AABC-APQUR; AH=EC=‘{C=L' then k value
PO QR PR
AABC~APQOR,; AB _ BC _ ""7=.t wond k Dewd
rg Q@R PR
(n k=1 (2) k=1 (3) k<0 (4) k=0

A line which intersects the given circle at two distinel points is called

(1) tangent (2) sccant (3) radius (4) circle

$yee) Bod 3 Docbipe 35 wollod Advlad Dot

(1) 33¢; Bw (2) ey (3) oprgaw (4) dydam

Angle in a major segmenl is

(1) an obtuse angle (2) an acute angle

(3) right angle (4) None

©0d 3)8 wodod'd iy

(1) o5 Sain (2) oo
(4) 2B =

(3) wowt‘miw

SPACE FOR ROUGH WORK / & &08 Btrovodnds puin



36 In the figure y=____
Deduy pod X=

. : S TI L
(1) 60° ) 100° @) 100 (4) 120

. . i , L . = Ih -
37 The circumference of a circle is 100 cm, then the side of a square inscribed in the

circle is
w8 208 208 100 305, mandy w3308 woddhod paS S&ER o
1 543 5042 50
8. N §) —
(1) = (2) - (3) = (4) =
38 In the figure, ZACSH.... .
a0 008 LACE Deus
[y
A i)
(1) 600 (2) 900 T (3) 300 (4) 1100

39 Angle between the tangent and radius drawn through the point of conlact is
238 8y6) Bochyp 24 TS, ﬁjﬂ;&ﬁ idpre Boty
(1) 300 (2) 450 (3) 60° (4) 90°

SPACE FOR ROUGH WORK / Od 308 Beranoduds dody
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45

Which of the following formula is associated to cylinder ?
(800 Arfprod ardd8 dowododd Ardin

| 3 2
(g (2) nrih () 3nr’ ) %nr’

To find out the slant height of a cone, we usc theorem.

(1) Thales (2) S.AS. (3) Pythagorus (4) S.S.S.
Jow Deroren Jb EdAHLSE Rgrodin &SR AZI.
(1) 38 (2) ev.sheb. (3) DorddS (4) grabb.

Ratio of volume of cylinder and cone whose radii are equal and having same heights.

e rgingo, Mbren 803 iy, Jowpo DI Barpive X3,

i3]3:l 4) 2:1

) 1:3 (2) 1:2

The radius of the sphere is increased by 100%. the volume of the resulting sphere is

increased by
2.

o8 Aioin Awdy Tggan 100% Dodd D585 Alvan Aoy 3 Soarmiy Jod
(4) 900%

(1) 200% (2) 700% (3) 500%

If acos@+ bsin8=p, asin@—bcos® =g then

acos 0+ bsin = p. asin®—bcosB = g wowd

(2) a’+b* =p® -q°

(1 a? + b’ =;:3—f-(;2
v S

3) a2—-b2=p*+q 4y a?-b*=p*—q
| radian = -
(1) 56°18° (2) 57°16 ~(3) 56°15' (4) 45040
- __iL

SPACE FOR ROUGH WORK | D& 8 Beronodnds dow



46 IT 4=45°, B=60° then sin A+cos B=
A=45° Goaty B=60° weus sin A+cosB="

2-V2 2 2443 2443
2 el g :-ﬁJ‘ 4 = J‘,f

47 : ' : ; . .
IT 4,8.C, D are angles of a cyclic quadrilateral, then sin A +sin B—sin C—sin D =?

A B,C,D et Sibog S =B sin A+sin B-sinC-sinD=7
(1 -1 (2) 0 3) 1 (4) 2

48 1f A== then (1+1an ) (1 +tan? A)(1+1an? 4)=

A=% wond (1+tan A] (H-lan2 A)[l+lnn3 A)=

(1) 6 (2) 4 (3) 8 (4) 2
49  cos5201° cos202° cos52039.............cos 300° =

cos 201° co0s202° cos 203°............. c0s 300° Dewd dod ?

i ) o

50 If the angle of elevation of the Sun is 60°, then the ratio of a tree with its shadow is

(1) 1:1 2) 1:43 (3) J3:1 (4) None of these
rd Dhw Arded 3 St &18esmo 607 woud u By Mak o) Mo Pdyo 23 :
(1) 1:1 ) 1:143 3) J3:1 (4) D8 s
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53

54

55

Frt;n:l IJT.: lop of t!n: tower 60 mis high the angle of depression of two objects due north
and due south of the tower are 60° and 45° then the distance between two objects is

60 fb. doriv e &35 D errin o8 Hb)E'eob’ add, Oiw By ud’ 83) Tods Supod
60° dbaty 45° 0B Srdd, o Shpe g drdo D87

(1) 6043 m (2) (60+2043)m (3) 60(¥a-1)m () 60(¥3+1)m

What is the probability of getting an even numbcr"_iﬁ a single throw of a die ?

o8 D50 B BodAbpd SRy vlodu Mo Horagd N

l 1
M3 @ 3 o 1 oF

-—

A number chosen from 1 to 100. Find the probabilixf that it is a prime number ........

| 208 100 .'bovguﬁ‘ n8 Somgi atrdydysor ao-iis{;::&l. o dopy ([HGTR Dowy wsdbA

:m,:-ésé ......... il
W = @ -3 B) 3 " =32 [

probability that the numbers on them are

-

If two dice are rolled simultancously then the

difTerent is ‘
Sod Die LA EQoDA D T8 v Byt songen oDo dorrigd
W = @ 3 ) 5 :

A bag contains 6 red balls, 12 green balls and 8 black balls. Find the probability that

the ball drawn is either a black or a red ball.
o4 2006 6 Xoip wodkiew, 12 uhdd) podiey &bnm_;gz&u:g podieny AT 0N, ¥ o 0ncd

atrcDydorr &5 203D Bt 08 Seu B b dod 20 et Soprdgd oA,

M7 %) 13 RURTIP “ 3

ROUGI WORK / & &8 feravoduda dodv
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56 The mean of 17. 4. 8. 6 and 15 is m, the median of & 14, 10, 3,
(4) None of these

57

58

59

60

is (m-1). Then the values of m and n are

(1) m=9, n=10

17, 4. 8, 6 Seam 15 o ade m, 8. 14, 10, 5, 7. 5. 20

(2) m=10, n=9

(m=1) eowd mi, 1 Devndey

(1) m=9,n=10

(2) m=10, n=9

{3} _J”:S, H'-—g

(3) m=35n="9

Find the mode when median is 125.6 and mean is 128.
26grido 125.6 bat &ty 128 waus erimvio Jod?
(2) 120.8

(1) 120

(3) 125

7.3, 20, 19 and n

|9 oo N o wEgrido

(4) 2b 5

(4) 128

The median of the marks scored by 100 students in a 25 marks Unit test is

& |80 derod wdgrido Jod?

Maice 0-5|5-10]10-15[15-20|20-25
(.‘:rmgrtuj
No. of students 10 18 42 13 -
(:Ja-ggw Ropg)
(1) 12 (2) 12.3 (3) 12.6

(4) 12.7

In hundred numbers 20 are fours, 40 are fives, 30 are sixes remaining are tens then

arithmatic mean is

20 Trenen, 10 pdew, 30 uden 10 dde ¥idy Jod?
(2) 5.6

(1) 3.5

(3) 4.7

(4) 5.8

[f a coin is tossed 3 times, then the probability of getting at least one head is

2.8 FErd) fardh A HHOTR S0 w8 Fiy Podde DogrEgd

3
(1) 3

(2)

Wl!‘.ﬂ

3 =
{JE

y 1
4 3



\94 lens that is used to rectify hypermetrophia

SECTION - 11 : PHYSICS (588 #9aw)

(1) Concave (2) Convex (3) Cylindrical (4) None

Erdd)n A I BoHbLD AIErAOD Eorghn

(1) trsd (2) gowrsd (3) g (4) Dby

g%&’hen light passes through the liquids the change of [requency of Scattered light i?
/" related 10

(1) Raman efTect (2) Snell's law
(3) Total internal reflection (4) Nonc of these
508 |dire oo [Hodrdodidypds, HFdmin Bodd ol Angy THPIgAY IrhL €090

A28 02000050,

(1) oS Ferssn (2) )& davivim

(3) oupgrods sovadian (4) sy

63_/The relation between the speed of wave (v ), wavelength (3.) and frequency (i) is-

64

SGordAin (v ), SdorBdrin (), ) ooty Papsgan (n) o e dowodan
\

N . v
(1) n=vi (2) A=wvn (3) l=; 4) A=—

n
v = ), v
If the minimum angle of deviation is 30° with a Prism of angle 60°. Find the refractive

index of the material of the Prism.
60° Ewo €003 deEanS* 423 DI E'mo J0° wond, 308 sordin Bwney 8o

(4) J;

oS Jod ?

| ra

19| i)

(N 2 2) 3 (3)

COACE ENDR DI WNARK [ Rdy 28 fhmaca<a A4 o



- Howing remain const
follo -] ant 4 A
from eye lens

65 When objects of dilTerent distances are seen which of the
f eye lens ;

C\ Focal length of the eye lens (2) Object distance
3) Image distance from cye lens (4) The radii of curvature O
gt drorodt do Shpod SrISpd, oS Howohod & (800 rsd® D6 Yo aodi
(1) Hoes ses8 mrggossin T (2) ot sarsin wod Sl Srow
(3) Eoet sexsin #oA (53Bow droiy (4) godt g8 Hger TET D

—

66 The focal length of eyc lens changes between these values.
(2) 2.27 cm o 5 cm

(1) 2.27 em to 2.5 cm
(3) 2.5 cm to 25 cm - (4) 2.5 cm to 50 cm

SodY EH5HN @) Frdgodtin & 1808 dende GG Ard.
(2) 2.27 wo.. 08 5 0.

(1) 2.27 Bo. 08 2.5 0. (-
(3) 2.5 2o.. dos 25 0.8, - (4) 2.5 =050, @od 50 230.2D.

/2

L

6 The minimum distance from a real object to the real image in a concave mirror is

equal to
Hirs8 BEYEaND 3@ oI HE D Sy, Je ©3 DowrdS Ao ghs roin BRB Shrvhy
(1) 2F @ F o (3) 0 @) FI2 X
0

68 The mirror used as "Rearvie\\":‘_{:i:nirror in vehicles 1s
(1) Concave onv3§ (3) Plane (4) None of these
a'a’ra'c'aé“v‘ao.ﬁﬁ {:)'5'\;131_55 m dd3rAosh B8R
(1) Hersed (2) HoersS (3) dvde (4) bz

spherical mirror 1S

6L( The relation between focal length and radius of curvature of a
an

4650, YEEgPTR o Sovodi
(1) f=% (2) fzaii (3) R=1 () R=3f

SPACE FOR ROUGH WORK / D& 08 Beravosndd ol
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|
| WA hich of the following is the formula for magnification of spherical mirror ?

|

|

i P y o
{B] ] ( ) 1 (C Iln
(1) aand b (2) band ¢ (3) cand d

Reed doymrodt e84 ArDowisd

\V v e
() ~ (b) -= (©) G

(1) 8 &batw b (2) b &saw ¢ (3) ¢ 2bamw d

7Y/ Il a convex lens is placed in water, its focal length is
(1) increases (2) decreases (3) no change

08 ©ord Ssing MIE* dods o) mgigodcin

(1) 2rbdon (2) sbvdon (3) arcd

2/ Unit of power of a lens
. (1) cm (2) m (3) dioptre

(-.l

st Fdo M (Bhrein
(1) %o.. (2) (3) datib

Mc lens which can form real and virtual images is

(1) Convex (2) Concave

(3) Both Convex and Concave (4) None of these
e ©baxny darg (HADonived B G sLsiy

(1) ®ozrss (2) dtrsd

(1) dhmemmA aAAt: Fnbwed (4) 28 schy

(d) '};i‘

(4) d and a

h,
d —
( )- I

(4) d 2Bty a

(4) None of these

(4) dbscor

(4) None

(4) DA sa



ntre of curvature

¥ . ole
What is ll]c l:J'OSllan of the image if the object is placed beyond the ce
on the principal axis of convex lens ?
(1) at F
(3) betw o
elween C and F (4) at infinity
LopES S8k Qo B egtnD HSrlodintd udo SV aoDA ($3Dow AW
'-‘E,D Fiag (2) C38
(?) C 2oatw F o w4y | (4) wiod drdod’
75 L".‘j’hal is the lens makers formula ?
g8 Salrd o) Ar(ddn DR
_— I i) | ! J
) 7=(u+1)| === 1oi-1)| ==
:___(_j) f ( )[Rl Ry ) @y b )[Rl Ry
o) \
I 11 | 1 1
{'3 — j,l,-}-] [—-}-—- _— -] ('—"l'—]
é)f ( )Rl R | (4)f(|1 ]Rl R
&
76 What is the focal length of a double concave lens kept in air with two spherical
surfaces of radii R =30 cm, Ry =60 cm and refractive index of glass is #=1.37
boss mmdan 1.5 do o Hred SLEIY DG aodudss. Shsiy Ay YSerTpdrtive
t_‘:R| =30 2ok, Ry =060 %o.D. eand sbS wggostin Jod
O
C“} 40 cm (2) =40 cm (3) 50 em (4) — 50 cm
\O :
27 CWhen two ends of a conductor are connected to terminals of battery, what happens

inside conductor ?

(1) Electrons move randomly (2) Electrons come to rest

(3) Non-uniform electric field creates  (4) Uniform electric field creates
_rirdin Eng) Bod DdOD ergtod BOR6)8 SRS pd, Tirso 6'50 O udbd0d.

(1) dogrysen (ELEr8 Sosos* dotran (2) dogryen Hyo H88 Srav o~
~ -~

(3] wisndd gl §din dddd0d

—y
N .




)

'B' are having same cross-sectional arcas and same current

78 Two metallic wires ‘4" and Ly
\ of electrons in wire ‘A" and '%,

passes through them. Find ratio of drifl velocity

[electron density of wire 4= 8.0x1028m-3 and

clectron density of wire B=9.0x108m=3]
Tod '3 bﬁtﬂ"ﬁl' S0k ‘B © dupdyd Drergen dirdiy SO0 >4 oo
drgBen ttritn. 'A' ot B Bod'd dogySe sl XD RfTR0d.

(Eirod

(4" Be® JogsS o Fods 8.0X] 0283 Hdas

B bet dogyS o Fo8d 9.0x1028m=3]
(1) 89 (2) 9/8 (3) 16/27 (4) 27/16

79 Which of the following relation is correct regarding potential difference (V) ?

:}'aiunﬁﬂdﬁu{ﬂ!mmﬁaﬂ.b@m mm@muaum
Fq/.
W v=FY @ v=Fy/ O V=V O V=Yp

80 Which of the following materials has high'value of specific resistance ?

(1) Copper (2) Silicon (3) Glass (4) Iron
&1 (800 D dorgiy w08 D35 B G Devdh SDA dotuod.
(1) on (2) 208 (3) mes (4) a®aw

81 Three conductors having resistance values 2 ohm, 3 ohm and 4 ohm are connected in
parallel. Find equivalent resistance.

)6

13 2
(1) 20 ohm (2) 9 ohm (3) '1—,; ohm (4) % ohm
Ard >rEdy oo dwdew 2 4D, 3 LD Do 4 LD ob Sdroddavm Sobd 204
64 G dod?
(1) 20 L% (2) 9 L5 {31 L LD (4) L. LS
- 12 13




B2 By using KirchofT loop law find the value of ‘¥’ in given circuit.

83

84

Bom)% e Ar@tn daBuAod, 5Oyd Soatins® 'y’ Deod LLFR8.
\6
| 15V
L

| T

WV =34

-
2 ahm x ohm

(3) 5 ohm (L5 (4) 4 ohm (L5

(1) 2 ohm (L5) (2) 3 ohm (&%)

The power delivered by a battery of emf 20 ¥ is 40 . Then the current delivered by

the battery is
(1) 0.5 ampere (2) 2 ampere (3) 60 ampere (4) ROO ampere
20 Lt‘t.s Debgoryos poa o &S arsd.:-& 208 Dendd #ﬁ:ggﬁu 40 =8, wond U‘gbb ot
533 dedogS (Zardriw Jod?
(1) 0.5 wobasE  (2) 2 wobanb (3) 60 wobanb (4) 800 wolatb
The frequency of dircct current is Hz.
H¢ Aup: Debgh Gy, PrEHHgHL 6.
@ (2) 50 (3) 60 (4) 100
In an AC generator direction of current changes because of

(2) carbon brushes

(1) external magnet
(4) all the above

(3) slip rings 2
AC Beh & bgh [Berdr 8 SrE)aal SO
(2) sGy° PR

(1) erirg walr) odiw
(4) 232

(3) 25 Borben

SPACE FOR ROUGH WORK /| Dd &8 faranodadd Dol



1B

F=—.

ng conductor inside a magnetic field is 7
j

Find the angle between plane of conductor and magnetic ficld intensity direction.
1B

20 B woln F=—J_3—.

go I foree acting on current carryi

watj08 F8in & dodd dgh PETLR) DR oarghn

Sotuidh, vany 08 §8 640 iy Sein Jod?

(1) 90° (2) 60° (3) 459" (4) 300

-

’

P : The magnctic field lines always star from north pole.

Q : The magnetic ficld lines are open loops.
(2) P is false, Q is lrue

(1) Pis true, Q is [lase

(3) P and Q are fulse (4) P and Q are true
P : watdy0d petpen Judpd add |Gdaw wod aucsw uyoTon.

Q : wohdr;08 petpen BODD Sualre. |
(1) P dedo, Q &y [
(3) P ®oat Q &3y

87

(2) P sy, Q fes» X
(4) P'doomm Q Deiv |

88

A4

6 8 = 1

__time(in sec)

The graph shows relation beiwee_n induced emf (¢) and time (1). During which tin

period there is no change in induced electromolive force 7
(1) 61to 12 (2) 2106 (3) 0106 (4) 6108
(508 Dogomyol ey (¢) Doat som (1) 65 onomdy 5 ardipod. D w0 HHX
(208 Dgor ol podn & Ard O L:'
(3) 0 %08 6 (4) 6 @od 8

(1) 6 08 12 (2) 2 %08 6
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L

SECTION = 111 : CHEMIS1IRY (Grradied oo s \ . //

%\'hiuh of the following equations is not balanced 7 -
: 1200 caratd dnddnined® dogo anin?

S C+03 = C04 (2) 2AeCl— 2Ag+Cly
(3) CaCOy — CaO+CO, (4 Ny + 0y = NO

u/ The volume oceupied by one gram of hydrogen gas al STT is

N7 U224 liters (2) 5.6 liters (3) 112 liters (4) 448 liters
STP 33 &8 [ran TEeS saty ugbod wadireo
(1) 224 b. (2) 5.6 & (3) 112 & (4) 448 b.

Which of the following metals liberates hydrogen gas W hen reacted with dil. 11C1 7
B0d TS fee 11C] 8 S6 sobaspd, 2T ol dde Bt &30 207

(1) Ag (2) Zn (3) Cu (4) Au
{.3/ The colour of phenolphthalein indicator in NaOll solution 18
. U pink (2) vellow (3) brown (4) Ted
NuOll |ovdmod* bt ardd dorb
(1) roerd (2) 23 (3) Ao (4) Sy

{::-./ What is the chemical formula of hydronium ion ?
Zrfdono watrd Sy EradE FaSdso a7

, () nt (2) o+ (3) OH- My 1,0t

96 The nature of non-mefalyc oxides is gencrally
(1) basic /7 (2)/acidic (3) amphotenc (4) neutral

L
rodoomr bt usyo o ngEra0 7

(1) =d (2) oy (3) oggwrsatus  (4) st

SPACE FOR ROUGH WORK / 2 208 Siranoswds potw



103 In n given shell, the orbital which has more penetration pm';cr towards the nucleus is
5 e ugéﬁ‘ aocB un_}ﬂ.r#;,ﬁ‘ io|sdo 2ph S I Tyl Tl gerddud) ebyird ?
(1) s (2) p (3) d (4) [

fp4 Which of the following represents the correct order of electronegativity among halogens 7
Bob salet rsfez @ngy OGLS nunddigErd] 88 (SR 267

(1) F>Br>Cl>1 (2) IsBr>CI>F (3) F>Ci>Br>1 (4) Cl>F>Br>1

Es/ The element having highest electroncgativity is

(1) Oxygen (2 Fluorine (3) Chlorine (4) Helium
= ud;bs mmb&;méigdmwugm
(1) wByeb (2) 208 (3) 5 (4) *rDatbo

106 In which of the following molecule, the bond angle is 107° 48 7

& (Bod rals* 1077 48'm podsioo fu ey
(1) CHy @1\113 (3) H,0 (4) Bl

pairs of electrons in H,0 molecule are

- 107 The number of bond pairs and lone

H,0 ey S*) wog Justyn Eoten wboly Lodd JeiEryn BoLe DONg

()2 ) (M 1,2 @2. F) (4) 1,3

108 | nanomeler is equd
(1) 10~3 metre

v ] s ek B8 AarsEy
) 107 b 3) 102 b. (4) 1078 b,

(23110~ metre (3) 1072 metre (4) 10-'8 metre

(1 1078 .
SPACE FOR ROUGH WORK / 0d &38 Bercuodnds Potw




109 o1 3 .
In Nj IJ the bond angle is deviated from nomal hond angle 109928 s due y,

[I] l]-ﬂ]"ld rp;_“'r "-'I"U'hiﬁl'j t’]} I_ﬂ-nl‘: Pﬂir IEFUI‘."Iin"
(3) Lone pair-hond pair repulsion (4) All the above

NHy € >oroo podthne Dend 109928’ gy dpdm doded Ao "oy
“]'mﬂmm:}ggmm (2) pobl mole 250
(3) 08 2081066 nose dedee () panew

11 i . :
0 Which of the following is clectron deficient molecule ?

SLUR00 ee* Do JomyS B s
11 Which of the follow; g.is not an oxide are ?
(1) Bauxite G?;Dlinciin = (3) Pyrolusite (4) Cinnabar
4 (8o 2l 6B\E iy =08 : '
(1) H‘E&ts (2) gn"g_ﬁ " (3 ?‘iﬁ.‘“‘ﬂ?’;ﬁ (4) :ﬁltrﬁ

112 The correct order of reactivity of metals.

&'Piue dus) Batr fos adom AOALS (S,
(1) Na>Zn>Au>Cu (2) Zn>Na>Au>Cu
(3) Na>2Zn>Cu>Au = (4) Au>Cu>Na>Zn

113 In electrolytic refining of melals, the pure metal is taken as

(1) anode /@calhndc ' (3) electrolyte (4) vessel
DB DR DO crgd SEdhd [Bass’ 41 e'ron Adm Sasotrd.

(1) us'6 (2) =88 (3) &rosein (4) 28

/
J14 The concept of hybridisation was introduced by
(1) Linus Skeling (2) Linus Pauling (3) Berzelius -

Aoebddmin un v DS .
(2) Ba%rDoh ~ (3) BYDANS (4) &rBygrc

(4) Max Planck

(1) 845 2 00R

SPACE FOR ROUGH WORK / D& 338 $travoseds gudy



|1/I1u, distance between two adjncent layers in Graphite
Bodh |2 rdo g drdo

0 a0 0 0
(1 3A @r335A . (3) 4A (4) 3.6A

116 Which of the following is saturated hydrocarbon ?

& (800 TS 08 B E)s
() Colg (2) CyH, (3) CaH,y (4) C4Hg

117 The functional group in aldehyde is -
udrh & dod |Ehod Sardro :

(1) -OH @‘—CHD ) (3) -COOH (4) —COOR

118 The TUPAC name of C“J"CIII—C{I:——'CII: is
(1) But-3-ene (2) But-1-ene (3) Butyne (4) Butane
CHj;—CH; —CH=CH; aws) IUPAC s
(1) args3-65  (2) wrgsSl-&5 - (3) ergdS (4) urg8S

119 The formula of chloroform is

§'6' D rd o ' =

(1) CH,Cl (2) CH5Cly @ CHCl; (4) CCly

120 Volume of oxygen required at STP ﬁ}r cnmp]ell: combustion of A~yiole of ethane.
(1) 39.2 litres (2) 78.4 litres -5 (3) 156.8 litres (4) ,22.4 litres

L

ed Brd &35 Grom dirdo Bavordd umaag wdyel Hioirety, STP 54
(1) 39.2 bty (2) 78.4 bop '~ (3) 156.8 bug (4) 224 bm
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